Answer on Question #71039 — Math — Calculus

Question

Integrate [ x(In x)? dx

Solution

Using integration by parts:

fudv=uv—fvdu

Let
u = (Inx)?, dv = xdx, then
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jx(lnx)z dx = x—z(lnx)z — Jx_z_Zlnxdx = ﬁ(lnx)z —fxlnxdx
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Using integration by parts again:
Let
u = In x, dv = xdx, then
1 x?
du =—-dx,v= fxdx =—
X 2
x? x? 1 x? 1 x? x?
fxlnxdx =7lnx—f7-;dx =7lnx— de =71nx—z+c

So

5 x? ,  [x? x? x? , x? x?
fx(lnx) dx=7(lnx) — 7lnx—Z+c =7(lnx) —71nx+x+c

x? x? x?
Answer: [ x(In x)? dx = S (n x)? — SInx++c
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